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I, Cuarces C Aemurs, SR, seme riesroucy SworN,
OEPOSE AND SAY THAT MAL HAS BEEN CORRECTL v DRAWN LROM LI
NOTES OF A SURVEY MADE By Me ov THE D™ Day or AUGUST, 1968; TiaT
ITTRULY ANOD CORRECTLY REDRESENTS THE DROPOSED LOCATION AND

EXTENT OF THE WORKS USED TO DIVERT WATER LROM Unocrgeoyno, 1n

LersuiNg County, sy Garrerr Van Diesr, ror JericaTion

PURPOSES, [HAT THE PROLOSED PoINT of O/ VERSION, THE EXISTING
POINT OF OIVERSION ANOD PDLACE OF (USE UNOER PERMIT Mo, 4104, Tie
ALPROY IMATE LOCATION AND SIZE OF THE DIVERTING CHANNEL, ALL RESERVOIRS

OR DASINS , THE LOCATION AND NAMES OF ALl OTHER WORAS WHICH WILL CROSS
OR CONNECT WITH THE LROOOS ED WOoRK'S, AND THE BOUNDARY OF ALL LANDS,
SHOWING BY LO- ACRE SUBDIVISIONS THE AREAS PROLOSED TD BE IRR/ -
GATED; ARE FULLY ANO CORRECTLY DESIGNATED T HEREDN,
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SUBSCRIOED ANO SWORN TO BEFORE METHIS V] st DAY or AuGusT, 1968,

ANora BL/C 1N ANO FOR I umebe oT Couvnry, N£VA aA
« mwncmmae

Jotowp Fubiic ~ Sautr of Mevede
. Hupsoldr County
My Curimission !,cplm Moy 18, ‘?71_‘“
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